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wRwH 920 — wWwn NP TN Tow | .
NOP J OXl 000010 000000OOOOOOOOOOOOOOOOOOOOL
AR ITIPON MR NAR 7TIPDY TN YA
2127 R? — NOWLWwian A7P92 pr1vd ,beq 11 | beq $s2, $s2 0x1 000100 10010 10010 0000000000000001
NOP > wnw®

2 ToRw
X V0

SR R 2WAY WOW 022K 9907 OR — TAR 12K 27 7P 10 IR KRPKR) 0°72°K 2 NANIDY MITIPD 8 19701 PXI0KR 9

n
9 3+5 =4.51+5 9 PP n TR VXN NTT0 17X AV D MTIPD 5 1w NIRRT N9nn 210h (oA

(4.5(n—1)+8 7081 8 21X 1 0X) .Single Cycle MIPS 2 1ww »mn

2 7°Y0
I TP
.data 0x10008000 # Data Segment start (assembler directive)
A: .word O # array element A[0] of Fibonacci series array
.word 0 # A[1]
.word O
.word O
.word O
.word O
.word O
.word O
.word O
.word 0 # A[9]
n: .word 9 # n
.text # Code Segment start (assembler directive)
.globl main
main:
la $s0, A # load value of A into register $s0 -—> $s0 = &A[O0]
la $a0, n # load address of n into $a0 #
1w $a0, 0(S$Sa0) # load value of n into $a0 # -——> $a0 = n
addi $t0, $zero, O # first element $t0 = a_1l =0
addi $tl, $zero, 1 # second element $tl = a_2 =1
loop:
sw $t0, 0($s0) # stores element a_n
addi $a0, $a0 -1 # decrease index: n=n-1
beqg $al0, $zero, done
sw Stl, 4($s0) # stores element a_n+l
add s$t0, $t0, S$tl # calculates $t0 = a_n+2
add s$tl, $to, $til # calculates $tl = a_n+3
addi $s0, $s0, 8 # moves to the next 2 elements in the array
addi $a0, $a0, -1 # decrease index: n=n-1
bne $a0, $zero, loop
done:
addi $v0, $0, 10 # exit the program by calling syscall with parameter 10
syscall
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:N°12IN7 NXAT 7102 O IART 191N

FC  =00000000 EPC =00000000 Cause =00000000 BadvAddr= 00000000
Status = 00000000 HI =00000000 LO =00000000
General Registers

O (0 =10 Ea =21 R16 (s0) = 268468206 R24 1) =0

F1 (af) = 268435456 B9 (11)= 34 R17is11=10 F2E (9 =0

2 pe0y=10 R10t21=0 Fig(s2)=0 FZ6 (k=10

F3 11=0 Fi113=0 F19i{s31=10 R27 (k11=10

Fd4 (all=0 FizZd=0 F20(sd1=10 F28 (gp) = 268465224

Eh (al)=2147478412R13 1R =10 RZlishi=10 F29(sp) = 2147478408

:N°10WNT DX 102 N7 19N
DATA,

[0x10000000]...[0x10005000] Ox00000000
[0x10008000] Ox00000000 Ox00000007 Ox00000007 Ox00000002
[0x100080710] Ox00000003 Ox00000005 Ox00000008 Ox0000000d
[0x10008020] Ox00000015 Ox00000000 Ox00000009 Ox00000000
[0x10008030]...[0x10040000] Ox00000000

3 Toxw
N QY0
+1
$v0=2"" Hap1
21790
TP
.data 0x10008000 # Data Segment start
n: .word 5 # n
.text # Code Segment start
.globl main
main:
la $a0, n
1w $a0, 0($a0) # load $a0=n
addi $s0, $zero, 1 # $s0 = 1
addi $sl, S$zero, O # $s1 =0
loop: slt $s2, $a0, $sl # 1if $a0 < $sl then $s2 =1 else $s2 =0
bne $s2, $zero, finish # if $s2 == 1 goto finish
# actually: if $a0 < $sl goto finish
add $s0, $s0, $sO # $s0 = 2 * $s0
addi $s1, $s1, 1 # $sl ++
j loop # goto loop
finish: add $v0, $s0, Szero # Sv0 = $s0

:N°12IN7 NXAT 7102 O IART 19N

RS (al)= 2147476412 R13 (5) = 0

FC =00000000 EPC =00000000 Cause =00000000 BadwaAddr= 00000000
Status = 00000000 HI =00000000 LO = Q00000000
General Registers
RO (r =0 Fa =0 R16 (s0) = B4 F24 @ =0
F1 (af) = 268435456 R4 {t11=10 R17(s1)1=6 F26 9 =0
FZ2 (w0 =64 Fi0{2) =0 Fl18is2)=1 R26 (k01 =10
F3 p1=10 Ri1 (3 =0 R19(s3)=0 Re7 k=10
Fd (al)=5 Fizidy=0 R20(sd) =0 F28 (gp) = 268465224

R21(s5=0  R29(sp) = 2147478408
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8 no2 »an

1 758w
jr :R-type nT?5  .X
ori :I-type n7po
j J-type nTipo
11170 .$82 qW0°A77 YX2NN 72°027 TR L2737 VXA MO0 ,2°A00 7AW AWnNRT IRWY 07302 .2
$s1=1, $s2=5, $s3=3

2 ahoNw

ALU 73 9% 277 mux 717 No1an 37p01 5w 0-15 o°v°ab n12mnn ,Zero Extend n7°m 119077

RN MR R , ALUSrc=2 mx nn? w° 92 owb .v°2 32 2 2an7m0 nam rs oo oy OR vy ALU 7
.12°37 OR n7pa°

X277 972 VWIS

3 ahxw
RS "om"w 127 ,PC+4 % none nvyana N0 MXOPAW 7720 DY 110nN00W RO IRD NTO0AN 7°Van
SV 92 19%12° R-type mTps .
PV 092 W Iw/sw mTIps .2
X721 PC nR %2p° y19p% Wow MTIPOT NN DR P00 N2annT — 2°¥% 77200W 7°YaT av ,v¥1an beq nTps
1YW DPRT TIDPN KD AT 1991 2°2°30 1KY 1m0 PC+4 nx
.beq NTIPHAW Y2 MR OV ,INTD KD IR L,YKIANjANPD LT
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9 nva 939N

TRIPI CI90 TONW 007V oY 2w nw 1078 Preserved on call 2277317 22003 IR DRMMPA AW
JIRTP RO IR TW YIX0D 1A72 0w KR 19X 02I00°A0 ANPNan — 5wS

DR WYY ,Prologue 71 2%W3 037Y DX MW 121 DRIPIT 70w 9K 2000302 WANWwa? N0 oX
22V AnIAN DR 2 90N DRMPR 7w 70 Epilogue 11 2%wa 03w

1991 ,Preserved on call 2 27317 $a0-$a3 omwooan

A IR IPA °197 1Y 290 OUIRWI 07 ,NRTIPI TINWA NIRAn
X7 $a0 0037 ,A 70w MY M7 NIRRT TINWS
3 RW™ DY DR 7w

B X177 DIMANK ROW DT B 7oww 932 2070 a1 PR

jal B > 199Vw nYTY X7 ,$a0 00°312 v1RR av C awh
C TIRWY RMPT 197 .N°I0MA2 107 IR NI 197 AN

jal C > 72%w21,7 % $a0 5w 12>y nx mwn B 7ww ,C

3% $a0 5w 7wn rmws B maw Hw Epilogue

Preseved on 2 2°17317 2R $v0,$v1 22003 w 1von
J9R 090030 W 037V °23Y ANt W 1°an 0% RO Scall
77 17K 92,198 07700302 2°R¥A1 17X D90 1307 101 TR ,0°3Y IR 797X B 73w 0OYT 1IN OX
JNWA DYV NN NIN0N

2,1°10M12 197V DR AL 9V B 7730wh aRepn 2109 $v0 2 700w 7O IR Dwak 9210 A 7w 070
NR WY oY ,post-call 7 0won pono B oW aRIpa InKRYY pre-call 7 nwon phno ,aow frame
Bakhie]ytahatalle mioi!

LD D°NI0NMT 12 ARYM NVAORN 7°30 ,NIN001 INMIR NAN WEANY N1NAWY MIRMIPT 92 ORW X177 1173000
129DR ,77I0M1 P9I A 1997 DOPPNT 12 120w, 0030 2°PRR R 21770 MY 7399100 11221071 MPITA NI
D1 2°P2070 DR 120D 2°NI5NN YW 9172 190N O

¥ NODIAR ,AWYIW 92 AnwYIw ,Preserved on call 2 0°°9°%9071 0300307 NITAT 2w 100 1INV T
T 211N QY TIEIANN MIROIPT 21 72,7000 AROIP 712 20002 OV 112V TR0 00D
aghilohfvii7Ze ) ini7a B i Mal 7

3 moNw

1 oRw
X

(PRIPI IR IRTP) NN o1 "R RY .N151 P10 N°I0WNT L7101 MR NNN 201 1°10mnan 100% 7w 93 190
Preserved on call X177 OR77 0% 732 70w (723012) TAR NMNTAT VO 7Y TIWH RPK ,0000%0 12°82 n9OUN
XD R NIRRT TR MY MW RIT AR 1190 LR IR

vy PR T RY OR AW ,TOXP00TR 09 NIIATY DTYAN 0000 O3 DWW 121 N7 LT 79K 11n21wna
DW I ARWR? DIAR DW NINTAT MR INIR NAN LN 0920 — IM12D .01 NI 77X NPERPNDa vInwa
.07 NI
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IR NN TP

main:
addi S$sp, S$sp, -32
sw Sra, 20 (S$sp)
Sw Sfp, 16(S$Ssp)
addi $fp, S$sp, 28
1i $a0, 12
1i Sal, 8
Jjal gcd
1w $fp, 16($sp)
1w Sra, 20 (Ssp)
addi S$sp, S$sp, 32
jr Sra
gcd:
addi $sp, $sp, -—-32
sw Sra, 20 (S$sp)
Sw Sfp, 16(Ssp)
sSw $al0, 12 ($sp)
sw $al, 8 (S$Ssp)
sw $s0, 4 (Ssp)
addi $fp, S$sp, 28
slt $t0, $a0, Sal
bne St0, $0, smaller
slt $s0, $al, $aol
bne $s0, $0, greater
addi $v0, $a0, O
3 return
smaller:
sub $al, $al, $aol
J callagain
greater:
sub Sa0, $a0, sal
callagain:
jal gcd
return:
1w $s0, 4($sp)
1w $al, 8 (S$Ssp)
1w $a0, 12 ($sp)
1w Sfp, 16(Ssp)
1w Sra, 20 (S$sp)
addi $sp, $sp, 32
jr Sra

e T

.

. -

Main
Main
Main
Main

Main
Main
Main
Main

GCD
GCD
GCD
GCD
GCD
GCD
GCD

GCD
GCD
GCD
GCD
GCD
GCD
GCD

prologue
prologue
prologue
prologue

epilogue
epilogue
epilogue
epilogue

prologue
prologue
prologue
prologue
prologue
prologue
prologue

prologue
epilogue
epilogue
epilogue
epilogue
epilogue
epilogue

:gcd SV instances 77 70X 9w Frame

$fp —>

$sp —»

$ra

$fp

$a0

$al

$s0

YIOPN RO LART AwYNW KD 70 .$v0 0007 291077 T DR 2IN0NW 37100 RO ANNRT ged 10w
TRYINT 39w jal ged NTIPD DR WRCAW AR return NN 12°WR PIDOW MIRMIPA 9 IXY return nONNY
YIA? 992 7910 2opNn PV LPYA NPNMAN2 N2N21 AREINT — 22010 NIRTIPA TV 22w 77K 20N XY ¥va

$v0 5w w2

2 hRw
X

u}
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10 n%2 o3 n

1 oRw

MemRead 71277 12 DR2YI 09912 HW 3TIP0 D oy °va 1 700 XY L,NWRA
9T NI DRI T ATIPD 27 — Iw NTIPD YXAY TI0EI WRI XN PYAT M9
NPI2XONT PR 12 TR — P27 2w 4 231 191N PO IR 1099907 171 9 ,opcode 1 01200 DR MY TR PR
.Dispatch ROM 1 v w mwnw
N5 WINPT cycle 7102 .5°300 ¥¥aNnD 9577 1991 ,2°99 RY 179 MemRead ,n21057 2100 v¥ANm WK

ALUOut 2 pnnn noon

WY 1991 ,117917 1INIT NRMP QY 117 077 717 ANIRT D07 L1t INR? 2031 NNIT TN IR NYRIANA L1970 NRD
.[20-16] n1°2°0 — MK NAWY

2 aoRw
Label dr-A  |[dr-B |1d-A |[1d-B | dr-ALU | ALUop | Done | Sequencing
Idle 1 1 Dispatchl
LoadA 1 1 Seq
LoadB 1 1 Seq
CalcA-B 0 Dispatch2
A<-A-B 1 0 CalcA-B
B<-B-A 1 1 CalcA-B
y 3
\
, 3 AddrCtrl
\ / State
R
< \
Mux <
)
CalcA-B
Dispatch ROM 2 Dispatch ROM 1
CC Start

;7P NP0 7 11w ;20 2 9910 Sequencing
M3 2° =8 Hva ROM % ppi 199 ,0%8n 6 1pab
.2°x(7+2)=8x9=72bit :ROM 715712 197
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3 ahNw

It WK 1990 2021 (4 2 7700 IRY) s ¥UA¥H 09X 120991 (rs DX 70 NIDTYAY) s MR 4 N0
i Ta) o)

DataMem|[-4($rs)] €< $rt

$rs & $rs — 4

4 goRw

MemRead
ALUSrcA=0
TorD=0
IRWrite
ALUSrcB=01
ALUOp=00
PCWrite
PCSource=00

ALUSrcA=0
ALUSrcB=11

ALUSrcA=1
ALUSrcB=00
ALUOp=01
PCWriteCond
PCSource=01

RegDest=0
RegWrite
MemtoReg=0
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